TemBreak

@ Innovators in Protection Technology

AAYFTF14RARI R
:0E 1 H L

Instruction Manual for
Switch Disconnector

ER (Types)
§250-SN

AN ISECAR A ERT 2R Clab T A, B
RUOBERICHTHREITEELA B
PABRELCTERT SV,

The Switch Disconnector is not a molded
case circuit breaker.Therefore this product
does not provide protection against short
circuit and overcurrent.Please use the
product as a switch disconnector.

AHIAF I, IERICEZFDHFILTK
PISRELTTE,

Please retain this manual for future
reference.

AEISBENTOEVEIRWN, B L VB 2 BRI L - TELU B IBEICEL T, %4tk —4)
EFEEVEEA,

The Manufacturer assumes no responsibility for damages resulting from non-application
or incorrect application of the instructions provided herein.

TERASAKI ELECTRIC CO, LTD.

7-2-10 Kamihigashi, Hiranoku, Osaka
547-0002, Japan

TEL: 81-6-6791-9323/ FAX: 81-6-6791-9274
URL : http://www.terasaki.co.jp

TS SRERA\TSR

T547-0002 ABRMIFEXIZER7-2-10
E5E 1 06(6791)9320

777X :06(6791)9274

R— L= ¢ http://www.terasaki.co.jp

E-mail : kiki-info@terasaki.co.jp E-mail : int-sales@terasaki.co.jp

2G0954SAA (KRB-0613)

0 RELENDIIEE

ML EHRTF AROBNIC LT ZOBIRHBEEEZO MO FBEEEELTHGEL,ELL

ZERATEV, COBIRHAE T, Z2XTBEBEN S 75 BRI EEIELTREALT

HUET,

[ABR]: BB % B -5 810 BRA KR EY 2 T T E A R BEE 2 3 a4

HBEINBIHE,

[AEE]BIEVE 8- - A BRERRPEVA T FRENBECHEL SIS

ATREMEN BESh D IHE,

E#, ICRHLAEETH MRS TR EALRBRICHEUO DUBErHIET,

WThHBEELRBRTCTDTRTF>TTEL,

BETEDEE (BLICHELEBOFATEIEN SOOI/ EBRELTTEL.)

A EE

OERILEL FERE (BRIEL) VY ToTTFE,

O=E.Z R BENDERBEMNX IR FELERBRIECHELLVWTTIL,
KEDBEERE L7, EBICEBELEVWEZAN HIET,

Q@I 7MY M EEDENMROMAKEEY XM yFTF1XARTZAIMICAS L
WEIICHBI LT TV, KD ERE L 724 REED BEZ M HIET

O TIFE, ERTL—H 5 EEY (OFF) ICL,KELTWA W EEEBLTIT-T
FTEWBENDSZThPHIET,

OTIFT /IS T AN — RO R I F1 U IZEM TRV I THREICH M I TTIN,
KEDBERELNET

BERLOEE

A fEbR
QUi FHICHMIENWT TV EEDE NI HIET,
BRF - ARLEOEE

AEE

@R Rt FFIMBER T 5 AN ToTTEW,

ORF - g, EALERTERE Y (OFF) ICL, TEL TV AW EEHERBL TITo TTFEL,
BREDBEINNHIET,

@i FH UL, EERIC AR AL THUBHL TTEV . KKDRRELET,

BZ D MDER

CBEED) —FGEH > THEESLEVWT TV BN RRELWET,

c A1y FTARARTZDAREDHN—ZRIT VT TSNV, MR RBEERITCEEL A,

« Ry FTFARART L ERT 3 EIRC BRI ERERICHEL ZHEEOD DEMHEAL T
TEW BIEES NSV EBRDBINNHNET

[1] Safety Notices

Be sure to read these Instructions and other documents accompanying the product
thoroughly before mounting, using, servicing, or inspecting the product. In these Instructions,
safety notices are divided into "Warning" and "Caution" according to the hazard level:

: A warning notice with this symbol indicates that neglecting the suggested
procedure or practice could result in lethal or serious personal injury.

: A caution notice with this symbol indicates that neglecting the suggested
procedure or practice could result in moderate or slight personal injury and/or property
damage.

Note that failing to observe notices could result in serious results in some cases.
Because safety notices contain important information, be sure to read and observe them.

HEMounting Precautions
(For detailed mounting dimensions, refer to the TemBreak2 catalogue.)

A\ Caution

@Electrical work should only be undertaken by suitably qualified persons.

@Do not place the product in an area that is subject to high temperature, high humidity,
excessive dusty air, corrosive gas, strong vibration and shock, or other unusual
conditions. Mounting in such areas could cause a fire or malfunction.

@Be careful to prevent foreign objects (debris, concrete powder, iron powder, etc.) and
rainwater from entering product. These materials inside the product could cause a fire
or malfunction.

@Prior to commencing any work on the product, open an upstream circuit breaker or isolator
to ensure that no voltage is applied to the product. Otherwise, electrical shock may result.
@When connecting cable or busbar to the product, tighten terminal screws to the torque

specified in this manual. Otherwise, a fire could result.

HMHandling Precautions

A\ Warning

@Never touch terminals. Otherwise, electric shock may result.

HEMaintenance Precautions

A\ Caution

@Service and/or inspection of the product must be done by persons having expert
knowledge.

@Before service or inspection of this product, please ensure that no voltage is
present on the switch disconnector supply side. Any device upstream of this
breaker should be suitably isolated otherwise electric shock may result.

@Regularly check that the switch disconnector terminal screws are tightened to
torque values shown within this manual, failure to do so may result in fire.

M Other Precautions

» Do not carry this product by accessory leads, as this may cause damage to the
product.

* Unauthorised opening of the switch disconnector cover will invalidate product
warranty.

« For product installation, please ensure that adequately rated conductors are selected.
Failure to use conductors with adequate cross sectional area may result in the
conductor overheating.

RBEM—E YPELLEBIR Packaged ltems/Assembly Tools

BRREAE

(X&)

Instruction Manual : 1
(This document)

WFNUT (FCOH)
._Interpole Barrier

(Only FC)
3P:2
4P . 3
= Type
1/ $250-SN
Connections/Poles Wl s
Qty Mounting screw Qty Connecting screw
AW (FC) 3P 2 3P 6
Front M4X55 M8X18
Connection 4P 4 M 4P 8 @3
Z&ERM (RC) 3P| 2 3P| 6
Rear M4X55 M8X25
Connection 4P 4 M 4p 8 W
EIAR (PM) 3P 2 3P 6 ’
Plug-in M4X65 M8 =)
Cor?nection 4p 4 M 4P 8 Q!’
BIAT (FP) 3P 2 3P 6
Flush Plate M5X15 W MBX 25 W
Where Applicable | 4P 4 4p 8

e )

1#{ELEE Operating Instructions

TRIPPED

NRIL
Handle
| )y TR
Trip Button I
(ON)
(OFF)
1B1E N> RVR(EN [y
Operation Operation effort ?
O(OFF)= | (ON) 53N
| (ON)= O(OFF) 57N
TRIP= O(OFF) 9IN

4| ERIIBMmMDEM  Fitting Internal Accessories

EWRAYF  Alarm Switch
ToAL0OL |
BYZAYF

Augxiliary Switch
*

T2AX00L

BESISL TREBESISL
Shunt Trip Undervoltage Trip

T2sHool’] | T2uvool| |
* TBRAEDEES
* Symbols of Accessories
Y'Y —% Ring Mark

BNy F ZHA(VTF
Auxiliary Switch Alarm Switch
afER bR alEm | bER
a contact b contact | acontact | b contact

11/AXc-14AXa [ 11/AXc-12AXD
21/AXc24/AXa | 21/AXc-22AXb | 91/ALc - | 91/ALc -
31/AXc-34AXa | 31/AXc-32AXb |94/ALa | 92/ALb
41/AXc44/AXa | 41IAXc-42/AXD
BEINLER | AREE3NLER
Shunt Trip Undervoltage Trip
power source power source
Ci-C2 D1-D2
#iA#4E+¥ Combination *HESOEDE
777 717 * Symbols of Accessories
o o TAR5| & H L EBONIE
2 "HQD' "HQH" Pull Out Leads on Load Side
B (L1 = [ LR R
O(0FF) O(0FF)
1 1
LTI T
1 (ON)
E 1L
Ql
<
O(0FF)
I

WAy F£1D (£7243220) MIFI 3155,
ERINSIEZE I TT SN,
In case of fiting one (or two) auxiliaryswitch,
fit in an order from a left side-slot.

RIS, DTERICEIES B EEMBL A, ZERAT IV,

+ After fitting, verify the function of the Accessory.

(5) BAR T BT

Form the cable




AHFRAER
@l - RER
Breaker Mounting
Procedure for FC / RC

M4X55 mm
1.3~17N*m

[> ]

M5X15mm -
36~44N m *: 3 or 4 (1&% Poles)

(6| AFI{TER 1EAK Breaker Mounting Procedure for F.P ( Where Applicable )

77y¥17TL—h
Flush Plate

T2FP2501S*B

T2FP2502S *B

T2FP2510S*B

T2FP2511S%B

T2FP2512S % B

B EHREEN REW - AN
Conductor Connection Procedure for RC / F.P ( Where Applicable )

HIEE%TE Arrengment Set (0°,45°,90°)

E-PE AN
Frat Bar Stud

T2RP25L * S
*: 3 or 4 (18E] Poles)

M6X18 mm
7.8~11.8N-m
M 9mm
M8X25 mm
11.8~18.6N-m

7EHREER R@EY

Conductor Connection Procedure for FC

O] NELAGFEFERRER REY

Solderless Terminals Mounting Procedure for FC

JYIEL RigF
Solderless Terminal

T2FW25LS *
*: 3 or 4 (1R Poles)

R2

AFMIERT AW

Breaker Mounting Procedure for PM

ELDAA
Plug-in Base

T2PM25LE *
T2PM25LC *

%1 3 or 4 (1821 Poles)

at Bar @
T2FB25L * S o 5
T2FB25L * W ® EAX vy
*: 3 or 4 (182 Poles) Q R End cap ]
] () ) A RO & "
g =22mm @ sxie T2FW2SLS *
=Timm T e~tznm 0| =z23mm
7.8~12.N
E 84mm & MI0X25 8 P =i20mmt !lj o MBERDBE. Bt R4kes T,
F =<25mm 22.5~37.2N'm Q] @I1N'm ° For 4 pole, use the 4pcs mounting screw.
G =11mm R |_M6X20mm P
T §9r7nnr]nm - SR RIOPERRE L, T —HinEFE TELTEIZEL TTE, 6.9~9.3N'm B LB OEFIETITVE T,
-Insulate all bare conductors of the line side until the breaker end. ‘ 2G0954SAA (KRB-0613) R? * When removing, remove the items in reverse order of mounting.
WFNY) TRGESE BFIN—-DFEE N FIWVEIWSBRERE Handle Holder Mounting Procedure

Interpole Barrier
Mounting Procedure

_——

wTNUT
Interpole Barrier

T2BA25L % SH
*: 3 or 4 (1&% Poles)

‘B LGB OB FIETITVET,
*When removing, remove the items in
reverse order of mounting.

Terminal Cover
Mounting Procedure

WFHN-Ay 7Y

Terminal Cover Lock

T2CF20L

BR BEHI—
Connection Terminal Cover
*
=@ T2CF25L % SS
Front Connected T2CF25L % SL
(FO TICF25L% SW
RE - EAW
Rear/Plug-in Connected T2CR25L *
(RC/PM)

*: 3 or 4 (&% Poles)

S LIRBUT DB FIBETITVET,

*When

removing, remove the items in

reverse order of mounting.

O (OFF) i
Holding O (OFF)

N RIVFIVE
Handle Holder

T2HH25L

B LB DB FIETITWET,
*When removing, remove the items in reverse order of mounting.

NRVay T
Handle Lock

T2HL25L

NnRay i, | (ON),O (OFF) (L& DWW Fh THEfHITEET,
+Handle lock can be fitted in any position of | (ON) and O(OFF).
DS LB T OB FIETITOET,

*When removing, remove the items in reverse order of mounting.




